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Each statement bas two unknowns. Represent both in Clrek o Tools 0
terms of x. | ¥ files to PDF.
1. The sum of two numbers is 35.
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4, 'The length and width of a rectangle total 36 cm.
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Applications and Problem Solving

17. Numbers The sum of 2 numbers is 46, 19. Measurement The lcngd". of a rﬂ_':““gle is

5 m more than its width. Irs perimeter is 90 m.
One number is 12 more than the other. What are =T v el
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/!r-ll d '/-D \/\/ 23. Women's hockey When Canada won the

20. Enumb?; ;_ﬁedsul:l ) ufi_cﬁw whole Women's World Hockey Championships, the
il e Canadian team scored 35 more goals than were

. scored against it. The rtotal number of goals
Wﬂ_ C m nU ! scored in the gaines thar Canada played was 41.
. : a) How many goals were scored against Canada?

b) How many goals did Canada score?
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28. Coins Aretha has $0.85 in nickels and 29. Basketball court A baskerball courtis a
dimes. She has 2 more nickels than dimes. ) rectangle with dimensions 26 m by 14 m. What

How many nickels and dimes does she have? i the length of a diagonal, to rthe nearest metre?
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